Controllo sulle tabelline a memoria
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OxX6=.... 3X2=.... 8x0=.... 1x9=....
2X9=.... 6x0=... Ox5=.... 2X4=....
10x1=.... Ox2=.... 8x1l=.... 10x2=......
8x2=.... 8x4=.... OX6=.... 2X5=....
7xX5=.... 6x10=..... 7TX2=.... 4X5=....
4x8=.... 4X2=.... 3X7=.... 6X7=...
2X7T=... 5x8=.... 5x9=.... 8x3=....
9x4=.... 10x0=...... 6Xx3=... 9x10=....
3x5=.... 7x1=.... 4x4=... 7x10=....
10x9=.... 3x9=.... 2X3=... 6x4=....
SXT7=.... O9x9=... oX4=.... 4x10=....
10x4 = ... 8X7=... OX7=.... 5x3=....
4x9=.... 7X3=.... 3x1=.... 10x3=.....
6Xx8=.... 5X6=.... 10x5=..... 8X6=....
9x3=.... 5x10=...... 7X9=... 7x0=....
8x10=...... 6X5=.... O9x0=.... 3x10=......
(X7 =... O9x8=.... 8x9=.... 7X6=....
3X6=.... 8x5=.... Ox5=.... 8x8=....
2X9=... 7TX4=... IX8=.... 6XxXx9=....
10x10=...... 10x8=...... 10x7=... 10x6=......
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